
Answers

5 10 15 20 25 30 35 40 45 50

Cakes: 5 × 7 = 35 or 7 × 5 = 35

Money: 6 × 5p = 30p or 5p × 6 = 30p

50p = 10 × 5p

Alice has ten 5p coins.

Aman is incorrect. Any number multiplied by zero gives the answer 
zero.

Jin is correct. The equals sign means that both sides are equal to one another 
so it doesn’t matter if it is at the beginning or end of the calculation so long 
as the sides are equal.

Alice is correct. All the multiples of five have zero or five ones.

Alice: 3 × 5p = 15p
Aman: 4 × 5p = 20p
Jin: 6 × 5p = 30p

Mum: 25p = 5 × 5p
Dad: 30p = 6 × 5p 
Grandma: 10p = 2 × 5p

Children choose a number of toppings and write a corresponding calculation 
to work out the total cost.
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